6 ad el

5 ad ) G ail) (8 LaS dagladl) (gl
4(2x - 1) + (x+5)(2x-1); .a
(2x-3)(x+3) - (2x-3)(x-7); b
(x-1)2-2(x-1).

7 ad, cpoadl)

5 b (il (g LaS Al
SBx+4x2+7x3: a
(x-1)(7x+5) +2(x-1); b
(4x - 1)(7x+3) + (x+3)(4x - 1) ;
(-x+1)(2x+1) - (2x+1)(x - 10). .d

8 ab, craill

g5 (FC) @it Jlall ¢ Al cylal) o Al S 3
5 sl Jaall e ¢ Gl S Gle 5 el i ¢ synd
i ua 33 jlall K

(4x+1)2 + (8x+2) .a
FC:4x +1;

(12x - 14) - (6x - 7)(x+2) b
FC:6x—-7;

(6x-8) + (x-2)(3x-4)
FC:3x—4;

(6x-8)-(x-2)(3x-4) d
FC :3x — 4.

9 ad ) ()
8 b i) (8 LaS dalail) pud
(3x+6) + (2x+5)(x+2) .a
FC:x+2;
(4x-2)-(2x-1)(3x-7) b
FC:2x-1;
(x+1)2+ x+1 .c
FC:x+1;
(x-5)2-(x-5) d
FC:x-5.

10 8, cpall
8 b i) (8 LaS dalatil) pud
(4x+1)2 + 8x+2 a
FC:4x+1;
12x+14 - (6x-7)> b
FC:6x-7;
(6x-8)-(x-2)(3x-4)
FC:3x—-4;
(3x-92-3x+4 d
FC: 3x - 4.

18, c
el Lo e ) Ll JaSi
X +27=9 (.o ), a

5 3_1 .
7X—7=7( .......... ), b
Bx—6=-2(.......... ); ¢
5% + 15 = -5(.........) ; .d
2 b Cppall
iy Ly e )l Js|
5x2 + 4% = X(.oovunnns ), a

3 ad, el
g5 (FC) il Jaball ¢ 01 el e Ala S 3
@ aadl dalall Sl ¢ Gl € Jle s lall JE1 ¢ saas
elia ua (83 jlall ()
(4x+1)(7x - 2) + (2x - 7)(4x+1) .a

FC:4x+1;

2(6x-7) + (6x-7)(x+3) b
FC:6x-7;

5(3x-4) - (x-2)(3x-4) ¢
FC:3x—-4;

(3x - 4)(5x+3) - (x - 2)(3x - 4) d
FC: 3x —4.

4 5 ) Cp pall)

iy (FC) il daladl ¢ A ¥l oo Ala S 3
&5 @ janal Jelall Jlaw ¢ @lud S e s lall i ¢ snyaad
£lda dapa 83 )lall S
(3x-8)(x-2) + (5x+7)(3x - 8) .a
FC:3x-8;
5(4x+1) + (4x+1)(x+3) b
FC:4x +1;
3(x-4) - (x+2)(x-4) .
FC:x—4;
(x+8)(x+3) — (7x - 2)(x+8) d
FC:x + 8.

42 ) Cppall)
el dapa 35 el (iS) 5 FC @ jidiall Jaladl 5 30 JS L 20a

(5% - 2)(3x+4) + (3x+4)(x+3); a

(2x-3)(x+1)+5(2x-3); b
(x+1)2 + 3(x+1).
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